14B

1) (-1,2)

2) Y={-Y+1)+3
2Y=4, Ya=a2

6) 6=-X+1

7) (1.-3)

8) Y=-2(-1/3Y) -1
Y =2/3Y-1
113 =-1
Y=-3

9) ? = -3(X)

10) 2X+ 3&5!—M1=29
2X + 15X -90=29
17X =119

X=119/17
X=7

gg’]-‘flﬁﬂ
-Y =30
Y=5

(7. 5)

14C

1)
2)

3)
4)
5)

6)

8)
9)

10)
11)

12)

13)

14)
15)

(3, 4)

X+1=2X-2
d= X

Y=3+1=24
(-1, 3)

X+4=-2X+1
=3, X=-1

line b

Y

Y1)=4, Y+1=4, Y=3

m_—-_ai =-_E_._
-3

1-4

3=2/3(1)+b, 3-23=b, 218 =b, b=713

Y=28X+73, 2X-3Y=-7
m = -4/3

= -4/3(2) + b, 2=-83+Db
=248, b=423

2

b

Y=-4/3X +4 213

Y=-43X +14/3, 4X +3Y =14

1,4,9, 16, 25, 36, 49, 64, 81, 100,
121, 144, 169, 196, 225

12, 22, 32, 42, 852, 62, 72, 82, 92, 102,

112, 122, 132, 142, 152
820 miles

820 + 50 =16.4 hours, 16 + 4/10, 16 + 24/60

16:24 + 735 = 23:59, 11:58 PM

16) 820 +25=328 K

17)
18)
19)
20)

32.8 x 1.269 = 541.62

923

2A2 - A2 4 3A
Prime
12

14D

8) 0=-2(0)+b, 0=b
9) Y=-2X [2X+Y=0

10) m=4+3/4

1) 2=3/4(2)+b, 2=6/4+Db
2-32=b, b=112

12) Y=3/dX+12, 3X-4Y=-2

13) 1,4, 9, 16, 25, 36, 49, 64, 81, 100,

121, 144, 169, 196, 225

12, 22 32 42 82 @2 72, 82 92, 102,

112,122, 132, 142, 152
14) 380 miles

15) 380 +80=7.6 hours, 7 +6/10, 7 + 36/60

736 +6:14 = 1350, 1:50 PM

16) 380 + 25 =15.2 gallons,
152 x 1,199 = 518.22

17) .321

18) A+3B8-9=2C
19) 5x87, 5x3x29
20) 8



